October 2011 Tech Mahindra Placement Paper:-

1. Find the output for the following C program

i=20,k=0;
for(j=1;j<i;j=1+4.(i/j))
{k+=j<10?4:3;
}
printf("%d", k);

Ans. k=4


2. Find the output for the following C program

int i =10
main()
{int i =20,n; 
for(n=0;n<=i;)
{int i=10;
i++;
}
printf("%d", i);

Ans. i=20


3. A merchant sells an item at a 20 percent discount. but still makes a gross profit of 20 percent of the cost. What percent of cost would be gross profit on the item have been if it had been sold without the discount?

(A) 20% (B) 40% (C) 50% (D) 60% (E) 66.6%

Ans :c) 50%

4.Given that A,B,C,D,E each represent one of the digits between 1 and 9 and that the following multiplication holds:
A B C D E
X 4
E D C B A

5.what digit does E represent ?

a) 4
b) 6
c) 8
d) 7

Ans: c

6.What is the value of the expression (3^6) + (a^a)?

a) 3 b) 5 c) 6 d) a+18 e) None

Ans:- 5

7. What is the value assigned to the variable X if b is 7 ?
X = b>8 ? b <<3 : b>4 ? b>>1:b;

a) 7 b) 28 c) 3 d) 14 e) None

Ans:- 3

8. How many 1's are there in the binary form of 8*1024 + 3*64 + 3

Ans:- 4

9. water is continuously poured from a reservoir to a locality at the steady rate of 10,000 liters per hour. When delivery exceeds demand the excess water is stored in a tank. If the demand for 8 consecutive three-hour periods is 10000,10000,45000,25000,40000,15000,60000 and 35000 liters respectively, what will be the minimum capacity required of the water tank (in 1000 litres) to meet the demand?

a)10 b)30 c)40 d)50

ans:- C 40

10. Jhaveri invested in Upendra&Upendra,Celco and Winger shares at Rs. 300,Rs.200 and Rs.5 per share respectively. He bought 100 shares for Rs.1000.The number of Upendra&Upendra and Celco shares he bought are respectively

a)23.17   b)17,23   c)17,60   d)15,25

ans: b)17,23
